
Missing Number 
   

 

   

 

   

 

   

 

 

3 

4 7 

9 

6 

4 7 

18 

4 

5 12 

? 

2 

4 5 

40 

1 

6 3 

18 

7 

6 2 

? 

2 

6 9 

27 

4 

5 8 

10 

15 

5 12 

? 

9 

3 7 

21

0 

16 

2 3 

24 

12 

3 12 

? 



Answers 

Remember that the number above the first triangle shows the difficulty level. 

 

 

 

 

 

 

1. (C-B)xA=28 

2. AxBxC=84 

3. (BxC)÷A=4 

4. (A÷B)xC=48 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

A 

B C 



 

Missing Number 
   

 

   

 

   

 

   

 

3 6 4 

2 1 7 

2 4 15 

9 16 12 


